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~ Algebra 1 Quadratic Review CYU DAY ONE

Name

Solve by Factoring

1.) x2-64=0 2) x2-6x-16=0 3.) x2+ 3x =40

4.) 2x*+3x+1=0 5.) x2-100=0 6.) x2 +6x=0

Solve by Square Roots:

1) X =6a '8.) 4x* =81 9.) x> +7=-300 10.) (x-5)2=236

Solve by using the quadratic formula.

11. x*+3x+2=0 12, @ ¢ =8y = 13.




Solve each equation any way you want. Show your work.

14, x2+11x+18=0 15. x2+2x+1=15 16. 7@ -9%x*1=0
+
=17 % =i Y= 1Js3
4
. x+2)2=36 18. x2—10x+25=0 19. - ¥+ T7=0
%=t 8 X=5 ﬁ CFW"‘O‘”)
20. x2=36 of. - = r =0 22. x2—5x+4=0

+(, Y=35F X=4,|

>
[t




_ REASONING:
20.) Which method can’t you use to solve this problem? x*>-47 =0

Circle one: Factoring Completing the Square Quadratic Formula

Explain why: nOWE. l

21.) Which method can you use to solve all quadratic equationse

Circle one: Factoring Completing the Square m
Explain why: p(lwagg wevkS “twe Cﬂcﬁé\ﬂl ‘R\\A a,b,c_f

22.) What are the two mistakes in setting up the quadratic formula?

Solve: 2x2—x—6 =0 xz&\/(_l)z—4(2)
2 2(2)
L=
b= = —-\<*|> gs -b
s

23 Factor the following: Tow '+ Sove !

a. ¥2-12x + 32 b. 6x2+13x + 6

(x-8) (x -4) (2+3)°

c. X2-25 d. 12x2—-x-6 e. 6x2+ 27x-15

(x+©(>('§> (B +2) (4x /3) 3(2x-1)(}4S )




25.) Clean up the following:

5 —8+42 b.si10\/§
2 10
-4 ¥ 24z | £243
e

26.) Simplify the following:

Scan mel

a. V12 ++/48 b. v/80 c 420 d. (V8) (V9) &
K 45 55 V=
e 3+8-v2+3V5-4-3V/5 f. (3V2 +5) (6v2-1)
=l lD 31+ 272
_N_%!Y-’%- o h. 0 i (FR)(3)
| 13, 20t ~2le
j. (V5)2= k. (2v3)2= . (W=9)2= m. (V—40)2=
5 12 —4 - 40

28.) Match the following quadratics with their roots/solutions/zeros/x-intercepts:

X2+ 5x + 4 a. x=4,1
_C x2+5x-4 b x==3i7
_QX2—5X+4 e x=—5i;m
_A_x2—5x—4 =Rt

2

L(X+5)2=4 & =4




25.) Clean up the following:

- TR

-4 £ 24z | £2Y3

-
26.) Simplify the following:
a. V12 ++/48 b. V80 c 420
A 5 13 V2
e 3+V8-V2+3V/5-4-3/5 f. (3V2 +5) (6v2-1)
-1+ {2 3] + 22
NEw ! g. TV h. 0 | (FR)()

i W5)2= k. (2v/3)2= l. (V=9)2= m. (V—40)2=

5 b o= - 40

28.) Match the following quadratics with their roots/solutions/zeros/x-intercepts:

x2+5x+4 a. x=4,1
_C xe+5x-4 b x&==857
_0\ xZ—5x+4 c. x=_sim
_A_ X2 —5x—4 =52

b x+52=4 =




